D'OY TN DXIND NIAN
88-212 DMNMP 2NN 2IIYN

0.7 "D ,2017 NN

t’yvn ’a qoNv 1PNTII NVIOIDVNIN



14
19
24
28

.

-

.

.

.

.

D3%YN 19N

D Y = o]

PYNRY 919N
. NY OVIN
"WYY YN
W24 DN
WM DININ
MR ULUR-IR )]

i A W N -



NN

:0NMPN NNNY NPIDVL MAYN IO
www.math—-wiki.com 9NN N8O ONPN T @
0PN DY NN NNYN T2 DINYD YOI »ToN 9mIND yana MONY e
2N 9N AT DR XOND YTapn e

DNTIP 21N 22PN DY 1IPPY2 DD ,MNPN NNON QONI M YP2 IINN @
J2 NOVAM NION” XIPI DNPNIYD

This font JMYRIN DY DY) DIIVN DOV MITINYI TN 1913 INDY DTNV e
IPRY QDN DN DXVANNYI INYD MVYY [ TPOINI OWN NN D) TN PO
Jpa31ya

M TNON Oy NAYN 930 Nnw) e

ANINAD DI YN OTINDN NIYA ann


www.math-wiki.com

PUNRY DN 1

Yoo MH N 1.1

Rng, or :07PNN ION MAN NN (R, +, -, 0) DM 93 10 .11 AN

non-unital ring

2NN Y HMIND DNIND INIPY TPYAN NN X0 (R, +,0) .1

Additive group
2NxPd nan N (R, ) .2
0PI a,b,c € R 595 95 (P00 DNNWN) N80 N O7pnn .3
(a+ b)e = ac+ be, a(b+c) =ab+ ac
(R,4+,-,0) @pna R P71 21033 ,7M72 Wpnn IUND
:0NOYN OV ¥ 0N DV DXTNYHD N0 NN AN 01 DN RO 1.2 D10

Commutative 29N NN¥NNS NNaN NN (R, -) OXOYPN N0 R .1
Ring DTN DR LR (R, 1) OXL(2IWN HTINWI DM DY DN IXR) WD N0 R .2

Unital ring 2NN OY DTN D) XIPY TRINN DV
Division ring a0 (R {0}, ) ox mW»nowm X0 R .3
Field Jroan nan xn (R {0}, ) or v 80 R .4

Svnb .oIN DN DNYIOY D»IAON DI NAIN 1.3 InNnT

TV RY NN DY DT oY 29N w0 N (Z,+, ) 1

DT 09N DN NN (27, +, 1) 2

DTV DTN IDONR PNYNI 1 NAY DT 0Y XNN DN NN (Zy, +, ) .3
2921 NN HY MNIN Moyoan oy MY on R-1 Q .4

LD”NDN XD PIDN NN ON OPYNNN OIPITONPN OPIIPNIN OIPIIONPN .5
1.21 T2 My

n P(X) qwno 0 oy ran an N0 (P(X), A,N) & .nvap X onn .6
ADNR NN NPPIN NP VDN WI9NN Nwa it A X Yw nptnin nXap
TV M ORD DTN DR NN X ) DIRD

Left invertible To b € R 07 OR (P00) MROWY oD XIPY a € R AR 0N R o0 1.4 D10
Aab=1) ba = 1-v

Unit ,P100) ORPVD TPAN KXIN ONX TO0 XID DN ,MNIAND NNND X1AN ONPA D
DN KD DY) RX 190) 022900 OIDRN QOIR NIR TR NIN 2OMNN MD NIPN)
595 nMan~nn po



5931 NN SV MNYAN 2230 N N M, (R) 2 o om9n nn RO 1.5 99490
N> det A € R ox p1 oX n>on A € M,(R) »> wain .myaon

NYILN NN N2 DTN IDRY YR NN w (M, (R), +) 20 MR 9P WIno
[, DTN DYavn NN 12 AN RY PR N (M, (R), -)-v ,DaRN
DT oy 2N M, (R) 199 290 PN D»Ppnnw

, 07”9120 NN Dy OT2Y IYRD D) V9D NN NVIPNIVTIY MNXRIND TIN
10 B € M,(R) n®701n NO»pY N N NNRE NYUYI XD TV Syn P X9
W .AB=BA=1,-v

det(AB) = det(A) - det(B) = det(I,,) = 1 = det(B) - det(A) = det(BA)

n>an det(A) »> nd »wn YWob L(det(B) N0 d90N) N3an det(A) Dy M5
25N NY) .c € R 0o oy

A-adj(A) = adj(A) - A =det(A) - I,
A-(c-adj(A)) = (c-adj(A)) - A =1, 9ap) c-1 993390

NN Sv MmN mawen v .Q[V2] = {a+bv2]|a,b € Q} o) 1.6 MMt
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Sum of ideals 299 DN BIRTRD DD NN VT .OORDN [, J v .2.27 D10
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DN GOIR NPNY Y, o) L DI20N NN DTN OONTN DY A nnavnd .2.30 7910
2 € Ly € Ay xq + -+ + x, DP0N
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.2 IR 20NN DONRTNRD DD PN MY X1 £ NN 27200 MO »Nn OXTRD I
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Ax) # Rx-w 79 € R 2N R 2N NND .2.34 990
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21D DYTY ONNY INTY 0200 XD 1 DAN , D70 0N N¥IAPA DIDDN TYUND
P90 DONTN NYOOND NITINN DX 1IAND ONTN MY

AJ CINJ orpm I, J DONTN M DI .2.36 DIWYD

Z[z] »n2 923 SNTNR NIDN2 NYR DORTN SV "INTipin” N950N .2.37 DONT
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921 ,2 NN 939 YO fi, fo, g1, g2 € Zlx] M D 1YW M) ONTN KD
-v 12 ,0Map 0N fi, g1 NPOOON NOAN

(2f1 +xf2) (391 + 2g2) = 6 + 2°
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D PRI NDVAN fo=go =21 ,f1 =91 = £1 90 .fig1 = fago = 1 N
2f192 +3f291 =0

ON OO opnIp on I,J D mxy I, J < R v N R o 2,38 DN
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AT =1N0J W ,0000p07p 1, J DRV INVIN 299N DN RO .2.39 9990
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PR LDONTND D100 THY 150 AN VIV IO
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TPNN) DN PYRY BINN

MZ DNMSN I 0N VY DONTNRD SYUNRD 0NN NN Z 3.2 9T
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DINIWR () = Z[z] 5 nnod yoan g = +1
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YD OUNT NN (2, ) ONTRD Q[z] N2 3.4 wyn
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JURI OINN NN Z/nZ 10 YTy DNRY IRT
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